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import pandas as pd
import numpy as np
import matplotlib.pyplot as plt

from sklearn.model_selection import StratifiedShuffleSplit
housing = pd. read_csv (“datasets/housing/housing. csv”)
housing[“income_cat”] = pd. cut (housing[“median_income”]
bins=[0.0, 1.5, 3.0, 4.5, 6.0, np. inf], labels=[1,
split = StratifiedShuffleSplit(n_splits=1, test_size=0.2, random_state=42)
for train_index, test_index in split. split(housing, housing[”income_cat”]):
strat_train_set = housing. loc[train_index]

strat_test_set = housing. loc[test_index]

for set_ in (strat_train_set, strat_test_set):
set_. drop (“income_cat”, axis=1, inplace=True)

housing = strat_train_set. drop(“median_house_value”, axis=1)
housing_labels = strat_train_set[“median_house_value”]. copy()

# longitude latitude housing_median_age total_rooms total_bedrooms households median_income median_house_value ocean_proximity

#RE 8 EEHOPRE HEH BEEH 3 URA O R AiE

# scikit-learn @ Simplelmputer IZ& 2 RIBEDEHAH

housing_num = housing. drop (“ocean_proximity”, axis=1) # 7+ X FEMHDKRE

from sklearn. impute import Simplelmputer # 2 S A MDA R —F

imputer = Simplelmputer (strategy="median”) # [HREEHIAL ] 4 VA F 0 ZDIER

imputer. fit(housing_num) # ¥ —4I24 VRAZ VA ZEE
x = imputer. transform(housing_num) # RiE{E D I8 &HAH

housing_num = pd. DataFrame (x, columns=housing_num. columns, index=housing_num. index) # DataFrame [ZE ¥

2, 3, 4, 5]

FEMEDHRIE BEDMERMR
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#IEORAARR (TRAT—%)

test = pd. read_csv(“datasets/test/test. csv”)

test

term-A term-B term-C term-D

imputer. fit(test)
imputer. transform(test)
= pd. DataFrame (temp,

temp
test
test

1

10

20

30

40

50

15.0

NaN

NaN

NaN

55.0

100

200

300

400

500

columns=test. columns,

term-A term-B term-C term-D

1.0

2.0

3.0

4.0

5.0

10.0

20.0

30.0

40.0

50.0

15.0

35.0

35.0

35.0

55.0

100.0

200.0

300.0

400.0

500.0

¥ TXRMATIVEHEONE

housing_cat = housing[[“ocean_proximity”]]

housing_cat. head (10)
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index=test. index)
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array ([[

DL4-p64~73

ocean_proximity

3230 INLAND
3555 <1H OCEAN
19480 INLAND
8879 <1H OCEAN
13685 INLAND
4937 <1H OCEAN
4861 <1H OCEAN

# OrdinalEncoder
from sklearn.preprocessing import OrdinalEncoder
ordinal_encoder = OrdinalEncoder ()

housing_cat_encoded = ordinal_encoder. fit_transform(housing_cat)
housing_cat_encoded[:10]

1
T [ET—

[EYE—T
.« e e e e =
~—

co—_o—~o—roO

—rar

ordinal_encoder. categories_

[array ([ <1H OCEAN’, " INLAND', " ISLAND, 'NEAR BAY', "NEAR OCEAN'],

dtype=ob ject)]
# OneHotEncoder
from sklearn.preprocessing import OneHotEncoder
cat_encoder = OneHotEncoder ()

housing_cat_1lhot = cat_encoder. fit_transform(housing_cat)
housing_cat_1hot
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<16512x5 sparse matrix of type '<class 'numpy.float64’ >
with 16512 stored elements in Compressed Sparse Row format>

housing_cat_1lhot. toarray ()

array([[1., 0., 0., 0., 0.7,
[1., 0., 0., 0., 0.1,
[0., 0., 0., 0., 1.1,
[0., 1., 0., 0., 0.1,
[1., 0., 0., 0., 0.1,
[0., 0., 0., 1., 0.1D

# hRA LEHIR BaseEstimator, TransformerMixin

from sklearn.base import BaseEstimator, TransformerMixin
rooms_ix, bedrooms_ix, population_ix, households_ix = 3, 4, 5, 6
class CombinedAttributesAdder (BaseEstimator, TransformerMixin):

def __init__(self, add_bedrooms_per_room = True): # *args, *xkargs 7 L
self. add_bedrooms_per_room = add_bedrooms_per_room

def fit(self, X, y=None):
return self # #I27/L

def transform(self, X):
rooms_per_household = X[:, rooms_ix] / X[:, households_ix]
population_per_household = X[:, population_ix] / X[:, households_ix]
if self. add_bedrooms_per_room:
bedrooms_per_room = X[:, bedrooms_ix] / X[:, rooms_ix]
return np. c_[X, rooms_per_household, population_per_household, bedrooms_per_room]
else:

return np.c_[X, rooms_per_house_hold, population_per_household]
It HEEORS—1 25 MinMaxScaler  f2/Mgr KA —1) >4 StandardScaler: $E# 1k

¥ VAN (v R %

from sklearn.pipeline import Pipeline
from sklearn. preprocessing import StandardScaler

num_pipeline = Pipeline ([
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(" imputer’, Simplelmputer (strategy="median”))

(" attribs_adder’
("std_scaler’, StandardScaler()),

D

CombinedAttributesAdder ())

DL4-p64~73

housing_num_tr = num_pipeline. fit_transform(housing_num)

housing_num_tr

array ([[-1.15604281, 0.77194962, 0.74333089
-0. 08649871, 0.15531753]
[-1.17602483, 0.6596948 , -1.1653172 ,
-0. 03353391, -0.83628902]

[ 1.18684903, -1.34218285, 0.18664186
-0. 09240499, 0.4222004 ]

[ 1.58648943, -0.72478134, -1.56295222

-0. 03055414, -0.52177644]

[ 0.78221312, -0.85106801, 0.18664186
0.06150916, -0.30340741]

[-1.43579109, 0.99645926, 1.85670895,

-0. 09586294, 0.10180567]1])

# ColumnTransformer

from sklearn. compose import ColumnTransformer

num_attribs
cat_attribs

| ist (housing_num)
[“ocean_proximity”]

full_pipeline = ColumnTransformer ([
(“num”, num_pipeline, num_attribs)
(“cat”, OneHotEncoder (), cat_attribs)

D

, —0.31205452

0.21768338

, —0.46531516

0.3469342
0.02499488

, —0.22852947

housing_prepared = full_pipeline. fit_transform(housing)

housing_prepared

array ([[-1.
[_
[

TO—=0O0—=0O

15604281,
17602483
18684903

1. 58648943,
0. ,
[ 8 78221312,

0. 77194962,
0

: ]
0.6596948 ,
0. ]

—1.342182851
1.

-0. 72478134,
0

: ]
-0. 85106801,
0. ]

0. 74333089,

'-1.1653172 |
" 0.18664186,

-1. 56295222,

" 0.18664186,
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[-1.43579109, O. 99645926,]]) 1.85670895, ..., O.
1. .0
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